PF. 1: Vypocitej:
a)12:4-6-(-2)+3=
b)12:(4-6)-(-2+3)=
c)(12:4+6)-(-2)+3=
d)4-2-[4-(10-60:12)-9]:2=
e){[(15-24)-3-13]-2-16+6}:3=

PF. 2: Vypocitej:

a)36:4+8:(-2)-6=
b)36:(4+8)-(2-6)=
c)(36:4+8):(-2)-6=
d)36:[4+8:(-2)-6]=

PF. 3: Vypoditej:
a)4-12+7-[(5-8-7)+11-2-48]=

b)(-2) - [8-(15-7)-2-7]+2=
c)142-[3:-2+(5-8-6)-2]-5=
d){-53+[11-(17+5):2]-39:3}-2+8-4=

Pt. 4: Oprav chyby

a) — 9+ (=15) =6

b) — 17 + (=5 = =22
c) =14+ (—8)= —22
d —8+ (—=19) = =27
e) — 14+ (-7)=-21
f) —19 4+ (—=15) = - 34
g) — 17 + (-=15)= -31
h) —14+ (—18) = —32
i) — 18 + (—19) = =37
j)—14 + (-17)= =31
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0) 66 + (—=178) + (= 627) + (=72) = —811
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